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/ < Linearized knot diagam

Solving Sequence

\_/

: 2 4> » 10 » —> — — — — — Ca.C7.C
A knot dlagranﬂ 0 > 3 6 O 7 P 10101164 4 o 9 o 8 2 12>, cncn

Ideals for irreducible component#ﬂ)f Xpar

I = (—=8u®S + 17u® + -+ 8b+ 21, =70 + 314 + - +4a+ 11, w37 =500 + - fu—1)
=0 —bPu—-b+b*u—u—1, a v +u+1)

* 2 irreducible components of dim¢ = 0, with total 45 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI = (—8u® +17u35 + ... +8b+21, —7u®® +31u3 + ... +4a + 11, v —
5u3¢ + ..o 4 u —1)

(i) Arc colorings

o ()

a5 =

az =

u? +1
a; = —u?
%u% gu%jL -~+§u—§
a1 =\ 1,36 | 5,35 ... 433, T
1 Ut guT -+ U3
ut +u? +1
a4: u4
%u% B%u%—i-“ —&-%u—lﬁ‘;
ag = if,36 _ 69,35 4 . 1, 29
9 T U gu Tt Fu—%
gu% 11,35 4 --+%u—%
ag = \ _3,36 1,35 o T9, Cas
8 U+ gutt + + Tu—3
— w3t L - By 41
a12: u36 47u35+._%u+%
(ii) Obstruction class = —1

(iii) Cusp Shapes = — 203 + 10u3® + ... 4 22¢ — 12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w3+ 23u3C + .. —25u — 1
C2,C5 w3+ 5u a1
3 w5t 4~ Tu 1
€4, Co w? —u3C ... 3840 + 256
Co LT S |
C7,C8,C11 E LANRE SR CRRRNI: |
C12
c10 u?T = 13u% 4 - = 2707u — 563




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 3T —13y%% ... — 101y — 1
C2,C5 3T 42330 .. — 25y — 1
s 3T —49y3C ... — 25y — 1

€4, Co Y37 — 45y3¢ + ... + 507904y — 65536
6 3T ATy 21y — 1
C7,C8,C11 3T 4530 . — 21y — 1

C12
c10 Y37 — 27930 + ... 4+ 708095y — 316969




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V—1(vol + y/=1CS)

Cusp shape

u = 0.974418 4 0.0805901
a= 1.70420 + 0.066111
b= —0.049744 + 0.1363251

—6.68859 — 3.784541

—3.30270 + 3.826261

u = 0.974418 — 0.0805901
a= 1.70420 — 0.066111
b= —0.049744 — 0.1363251

—6.68859 + 3.784541

—3.30270 — 3.826261

u = 0.231315 4 1.0062201
a = —0.542701 4 0.7324261
b= 0.34827 + 2.049661

—8.03711 4 4.791241

—8.56176 — 2.650481

uw = 0.231315 — 1.0062201
a = —0.542701 — 0.7324261
b= 0.34827 — 2.049661

—8.03711 — 4.791241

—8.56176 + 2.650481

u = 1.028220 4 0.1241831
a = —1.74341 — 0.114821
b= —0.037304 — 0.2223661

—15.2275 — 6.09701

—5.01510 + 2.608031

u = 1.028220 — 0.1241831
a = —1.74341 + 0.114821
b= —0.037304 + 0.2223661

—15.2275 + 6.09701

—5.01510 — 2.608031

u = 0.136558 4 0.9388531
a= 0.637084 — 0.6900451
b= —0.37494 — 1.622631

—0.94719 + 2.422861

—4.75761 — 3.490301

u = 0.136558 — 0.9388531
a= 0.637084 4 0.6900451
b= —0.37494 + 1.622631

—0.94719 — 2.422861

—4.75761 + 3.490301

u = 0.934595
a = —1.67956
b= 0.109351

—4.18236

0.534920

u = —0.498462 4 0.7584861
a = —0.027415 4 0.6065211
b= 0.231876 + 0.4240501

0.02228 — 1.469621

—3.17240 + 5.640981




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.498462 — 0.7584861
—0.027415 — 0.6065211
0.231876 — 0.4240501

0.02228 4 1.469621

—3.17240 — 5.640981

—0.593765 + 0.9223501
—0.560730 — 0.3091461
—0.562518 — 0.0302651

—0.58389 — 2.988961

—7.13918 4 2.575911

—0.593765 — 0.9223507
= —0.560730 + 0.3091461
—0.562518 +4- 0.0302651

—0.58389 + 2.988961

—7.13918 — 2.575911

—0.225572 4 1.1003101
0.843421 — 0.5549051
0.474759 — 1.0679401

—3.28963 — 2.824641

—7.40073 + 4.805601

—0.225572 — 1.1003101
0.843421 + 0.5549051
0.474759 + 1.0679401

—3.28963 + 2.824641

—7.40073 — 4.805601

= —0.671032 + 0.4952591
—0.136744 — 1.2094801
—0.372384 — 0.7104721

—6.83822 — 1.478481

—3.18303 + 2.736071

—0.671032 — 0.4952591
—0.136744 4 1.2094801
—0.372384 4 0.7104721

—6.83822 + 1.478481

—3.18303 — 2.736071

—0.033671 + 0.8007811
—0.683908 + 0.6993431
0.295173 + 1.0486901

—0.199573 — 0.9836601

—0.88923 + 4.012191

—0.033671 — 0.8007811
—0.683908 — 0.6993431
0.295173 — 1.0486901

—0.199573 + 0.983660.1

—0.88923 — 4.012191

—0.662632 + 1.0053301
0.854489 + 0.3628361
0.841855 + 0.0032011

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

—8.20792 — 3.663521

—6.31169 4 2.267131




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.662632 — 1.0053301
0.854489 — 0.3628361
0.841855 — 0.0032011

—8.20792 + 3.663521

—6.31169 — 2.267131

—0.227230 + 1.2311307
= —1.009910 + 0.6088011
—0.74907 + 1.207301

—11.76330 — 3.917691

—8.22395 + 3.012981

—0.227230 — 1.2311301
—1.009910 — 0.6088011
—0.74907 — 1.207301

—11.76330 4 3.917691

—8.22395 — 3.012981

0.486053 + 1.2867701
0.240798 — 1.2706601
0.45076 — 2.682141

—8.12027 + 5.055201

0.486053 — 1.2867701
0.240798 + 1.2706601
0.45076 + 2.682141

—8.12027 — 5.055201

0.439816 + 1.3212801
—0.347920 + 1.2933801
—0.48608 + 2.619121

—11.09790 4 1.176991

0.439816 — 1.3212801
—0.347920 — 1.2933807
—0.48608 — 2.619121

—11.09790 — 1.176991

0.532306 + 1.2885701
—0.159576 + 1.3115001
—0.46454 + 2.725781

—10.40170 4 9.187361

0.532306 — 1.2885701
—0.159576 — 1.3115001
—0.46454 — 2.725781

—10.40170 — 9.187361

0.56898 + 1.299081
0.101863 — 1.3619701
0.47767 — 2.749771

> Q& €| & €|l & €| Q& €| Q2 &) Q@ 8| Q@ €|l & €|l & &> & &
I

—18.8582 + 11.81231




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.56898 — 1.299081
0.101863 + 1.3619701
0.47767 + 2.749771

—18.8582 — 11.81231

0.275325 + 0.4940491
1.091150 — 0.4851011
—0.900722 — 0.4079911

—6.61511 — 2.328561

—4.23901 + 4.395701

= 0.275325 — 0.4940491
1.091150 + 0.4851011

U
a
b
U
a
b
U
a
b= —0.900722 + 0.4079911

—6.61511 + 2.328561

—4.23901 — 4.395701

= 0.41598 4+ 1.373651
= 0.43080 — 1.36032I
0.56071 — 2.590831

19.4284 — 1.00701

0.41598 — 1.373651
0.43080 + 1.360321
0.56071 + 2.590831

U
a
b
U
a
b

19.4284 +1.00701

u = —0.143905 + 0.2644001
a = —0.85171 + 1.558901
b= 10.261547 + 0.4811321

—0.001965 — 1.0393501

—0.15393 + 6.522181

u = —0.143905 — 0.2644007
a = —0.85171 — 1.558901
b= 10.261547 — 0.4811321

—0.001965 + 1.0393501

—0.15393 — 6.522181




IL Iy = (b* —bPu—b3+b2u—u—1, a, u> +u+1)

(i) Arc colorings

= (o)

a5 =

—b3u
ag = \ —2%u—b>+0b
—b*—u
a12 = \ —p3u — b +b2u—b% —2u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —3b%u — 5b% + 5bu + b + 3u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C3,C5 (u* —u+1)*
Co (U2 +u+ 1)t
C4,Cy u®
€65 C10 (u* +u? +u? +1)2
cr,C8 (u4+u3+3u2 —|—2u—|—1)2
€11, €12 (u* —u? 4+ 3u? — 2u +1)?
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 (y2+y+1)4
Cs
¢4, Co y®
Cg, C10 (y4 +y3 +3y2 +2y+ 1)2
C7,Cs, C11 (y4 + 5y3 + 7y2 + 2y 4 1)2
C12

11



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = —0.500000 + 0.8660251
a= 0 0.21101 — 3.444991 2.00436 + 8.246691
b= 0.447930 — 0.6648451

u = —0.500000 + 0.8660251
a= 0 0.211005 — 0.6147781 | —0.99907 — 2.291141
b= —0.799738 + 0.0554961

u = —0.500000 + 0.8660251
a= 0 —6.79074 — 5.193851 | —1.85285 + 5.626571
b= —0.363298 + 1.1933301

u = —0.500000 + 0.8660251
a= 0 —6.79074 + 1.134081 | —5.65243 + 1.408261
1.215110 + 0.2820411

—0.500000 — 0.8660251
= 0 0.21101 + 3.444991 2.00436 — 8.246691
0.447930 + 0.6648451

—0.500000 — 0.8660251
= 0 0.211005 + 0.6147781 | —0.99907 4 2.291141
—0.799738 — 0.0554961

= —0.500000 — 0.8660251
0 —6.79074 4 5.193851 | —1.85285 — 5.626571
—0.363298 — 1.1933301

—0.500000 — 0.8660251
0 —6.79074 — 1.134081 | —5.65243 — 1.408261
= 1.215110 — 0.2820411

b
U
a
b
U
a
b
U
a
b
U
a
b
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u? —u+1D)H W’ +23u36 + .- — 25u — 1)
€2 (W +u+ D) +5u* 4+ +u+1)
3 (u? —u+ D)MW =503+ —Tu+1)
¢4, Cg uB(ud” — ud® 4 - 4 384w + 256)
€5 (W —u+ DN (W + 50 + -+ +u+1)
6 (W +u® +u? + 1))@ +3u30 4 —ut1)
cr, cs (u* +ud +3u® + 2u + 1)) (W + 303 + -+ 3u+1)
c10 (u* +ud +u? + 1)) W - 13u36 + - — 2707u — 563)
€11, C12 (u* —u® +3u® —2u+ 1)%) (W +3u° + - 4+ 3u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1 (P +y+ D7 —13y° + - =101y — 1)

C2, €5 (P +y+ D) +23y™ +--- =25y — 1)
‘s (P +y+ DT —49y™ + ... — 25y — 1)

Ca, Co y3(y®" — 45y%% + ... 4+ 507904y — 65536)
¢ (' +v° 430" + 2y + 1)*)(y*7 —4Ty*0 + - =21y — 1)

07’08’2; ((y" +5y° + 7% + 2y + 1)*)(y°7 + 455> + -~ — 21y — 1)

c1o ((y* + % +30° + 2y + D) (%" — 279°¢ + - - - + 708095y — 316969)
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